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Property 7 of the definite integral. If f (x) = max + k is a linear function, then
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Property 8 of the definite integral.

/ab(f(a:)+g(x)) da::/abf(:c) dx+/abg(x) do
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The integral of a sum is the sum of the integrals.
The integral of a difference is the difference of the integrals.
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Property 9 of the definite integra

We say that the variableofSategration » is 8~ 1y variable.”
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Property 10 of the definite integral: If f (z) = g (x)
except perhaps for a finite number of pomts, then
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for all z in an interval [a, b],

In other words, if we modify a function at a finite number of points in an interval,
it does not change the value of the integral.

Example: Suppose
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Property 10 of the definite integral: If f (z) = g (x) for all = in an interval [a, b],
except perhaps for a finite number of points, then

[.f(-?f) da::/abg(x) da

In other words, if we modify a function at a finite number of points in an interval,
it does not change the value of the integral.

Example: Suppose
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